
A

C

Force
Kc

K   =  spatially const.c

0

20

40

60

80

100

120

0 0.2 0.4 0.6 0.8 1

C
on

tra
ct

ile
 ri

ng
 fo

rc
e

Furrow radius

[0.0_0.1]
[0.1_0.2]
[0.4_0.5]
[0.8_0.9]

0

20

40

60

80

100

120

1 1.2 1.4 1.6 1.8 2

Pole-to-furrow distance

[0.0_0.1]
[0.1_0.2]
[0.4_0.5]
[0.8_0.9]

D

Furrow radius = 0.2~0.1

Shape CmCurvature

cu
rv

at
ur

e 
[A

. U
.]

z

r

0

0.5

1

0 0.5 1 1.5 2 2.5

Force = 0.0
Force = 3.0
Force = 200

8Force = 
in vivo

-6

-4

-2

0

2

4

0 0.2 0.4 0.6 0.8 1

Force = 0.0
Force = 3.0
Force = 200
in vivo

s

enlarged

z

r s
s = 1 at the furrow

s = 0

pole-to-furrow distance

t = 0 t

t = t1

θ

B

Figure S4


